
24	 158203	 Glass w/ Gasket, Ceramic,  GI 645 DV
25	 129124	 Gasket, Tad, .25’’ x1.25’’ Nominal, Graphite
26	 22644892	 Glass Frame, GI645 DV		
27	 220042	 Clip, U Type (Tinnerman)				
28	 117968	 Nut, M6 Serrated Flange plain		
29	 117917	 Screw, HWH SMA #8 x 1/2 SL Blk Oxide		
30	 117999	 Screw, SL SMA Type B #8 x 3/8 Zinc		
31	 129707	 Flex Tube, 3/8” OD x 36”, 3/8” Female Flare 

Connectors w/Adapters
32	 223215	 Adapter, Straight, 3/8 NTP x 3/8” Dia Flare
33	 3902573	 Piezo Ignitor Button
34	 226348	 Igniter Bracket, GI 545/GI 645 DV
35	 117920	 Screw, Pan Head, Phillips, M4 X 8, Zinc
36	 3902582	 Extension Knob, On/Off, 3”, SIT Nova 

820/821		
37	 3902581	 Extension Knob, Hi/Lo, 3”, SIT Nova 820/821
38	 222263	 Valve, NG, 50% TD, 3.8” WC, SIT 0820703		
         226560	 Valve, NG, 50% TD, 3.8’’ WC, W/POD, SIT    

0821644
39	 220709	 Knob, Rheostat Control, 1” Dia 
40	 220717	 Collar, Retainer, Rheostat
42	 220703	 Switch, Rocker, SPDT, Center Off, Black, Plain
43	 138720	 Decal, Blower Switch Box
44	 226367	 Blower Switch Box, GI 545/645 DV
45	 117951	 Wire Strain Relief, Heyco 7P-2 (Large)
46	 158138	 Power Cord Assembly, GI 545/GI 645 DV
47	 158137	 Blower Control Assembly
48	 225063	 Snapstat Finger Guard, GI450 DVII / 45i / 545
49	 225069	 Snapstat Shield, GI450 DV / 45i / 545/ 645
50	 222951	 Bracket, Snapstat, Firebox Mounted
51	 220637	 Snapstat, 140-120 °F, Normally Open	
52	 129153	 Switch, Rocker, SPDT, Black, Ctr Off, 		

Marked “ON-OFF-STAT”	
53	 226509	 Burner Switch Panel, GI 545/645
54	 129698	 Support, Control Panel, GI 450/545
55	 129154	 Terminal Block, 2 Pole 77 series 
56	 117922	 Nut, Hex M4, DIN 934, Plain
57	 157969	 Blower, Cross Flow, 12” Cage, 120 CFM	
58	 226311	 Cover, Access Blower, GI 545/645 DV	
59	 221797	 Rubber / Cork Strip, Adhesive Backed,       

.50 W x .125 T x 50’ Roll		
60      118262           Screw, HWH SMA #8 x 1.75” SL Zinc
61	 226644	 Pilot Shield, GI 645 DV	
62	 226417	 Pilot Assembly, NG/LP, 820/821 Valve, PSE 
63	 225628	 Pilot Spacer, 1.125” H, GF 370 DVII /  GI 545/645              
64	 129670	 Gasket, Pilot Assembly	

 No.    Part No.		  Description

65	 223231	 Orifice Holder, Drop In Assembly, 12.5” 		
Tube	

66	 222280	 Gasket, Drop In Orifice Holder	
67	 045024	 Orifice, #32					
          129665	 Orifice, 1.8mm / LP  (P C MEMO)
68	 221390	 Primary Air Shutter Asby	
69	 226510	 Air Shutter Holder
70	 220734	 Gasket, 2.25” OD x 188” ID x .125” T 
71	 226380	 Primary Air Handle, GI 545/645 DV
72	 226645	 Valve Heat Shield, GI 645 DV
73	 118016	 Nut, Lock, M6, DIN 980V, Zinc
74	 226452	 Spud Plate, GI 645 DV
75	 226616	 Gasket, Spud Plate GI 645 DV
76     117911	  Screw, Pan Head, Phillips, 10-32x3/8” 
77	 226581	 Valve Heat Shield, GI 545/645		
78	 226585	 Valve Bracket, GI 545/645

 No.    Part No.		  Description

1 226617 Exhaust Diverter, GI645 DV 
2 117968 Nut, M6 Serrated Flange plain 
4 22644792 Baffle, GI645 DV   
5 158116 Burner Assembly, GI645 DV 
6 22645092 Burner Skirt, GI645 DV 
7 226613 Secondary Air Deflector, GI645 DV 
8 22645992 Cabinet, Left, GI645 DV
9 117917 Screw, HWH SMA #8 x 1/2 SL Blk Oxide 
10 117999 Screw, SL SMA Type B #8 x 3/8 Zinc 
11 118047 Bolt, Leveling, M8 x 40 - PIC
12 226444 Cabinet, Base, GI645 DV 
13 226445 Firebox Weldment, GI645 DV
14 226416 Heat Shield, Remote Receiver, GI 545/GI645 
15 224910 Remote Control Kit 
16 226587 Glass Latch Assembly, GI645 DV 
17 226610 Convection Air Deflector, Side, GI645 DV
18 226611 Convection Air Deflector, Large, GI645 DV 
19 226646 Gasket, Vent Adapter, GI645 DV 
20 226571 Vent Adapter, GI645 DV
21 226642 Latch Tool, GI 645 DV  
22 226458 Top Back Shroud, GI645 DV
23 22646092 Cabinet, Right, GI645 Dv
24 22644692 Air Intake Wall, GI645 DV

 No.    Part No.  Description

Jotul GI 645 DV Astrid Gas Insert
www.woodmanspartsplus.com

www.woodmanspartsplus.com



